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Topic

Question Please explain how and why the expected carbon benefit of a 1 year

acceleration of uptake of EVs has been atttributed to each of the three
methods. Please also confirm that the “scaling” referred to on page 19 but
not mentioned in the detailed methodology (pp 56-57) has been included
in the estimates shown on pages 48 and 57.

Notes on
question

Answer e The 1 year acceleration has been attributed to the whole project and
not individual methods.

e The scaling referred to on page 19 has been included within the
figures provided in table 11 & table 18

Attachments n/a




